C1 RV1
100k log

2 1
EX
=
+
[N
o
=

)
z
o

GND

1
cs

5 100k log

2 1
EX
+

)
z
o

C6 RV4
100k log

2 1
EX
[
+
[N
o
=

)
z
o

GND

C7 RV5
100k log

2 1
EX
S
+
[N
o
=

)
z
o

GND

1
C11 Rv7

5 100k log

2 1
EX
+

)
z
o

C12 Rv8
100k log

2 1
EX
o
+
[N
o
=

)
z
o

GND

1
C13 Rv9
100k log

2 1
EX
<
+

)
z
o

C14RV10
100k log

2 1
EX
©
+
[N
o
=

GND GND

NE5S532

Out_L_Line_1

GND u1c GND  GND

Out_L_Line_2

NE5S532

Out_R_Line_1

GND GND
u3c

NE5532

o

100n OQut_R_Line_2

1
T

< C24
GND GND  GND

GND

NE5S532

10k
r7

VCC yo¢

NE5532

NE5532

NE5S532

GND

Cc27

Out_L_Head_1

Out_L_Head_2

Out_R_Head_1

Out_R_Head_2



